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Monthly averaged wind velocity by MF radar at Tromsoe for April 2012

North East

mean sigma = 24.628 mean sigma = 25.652
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Monthly averaged wind velocity by MF radar at Tromsoe for April 2012

North

mean sigma = 13.253
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mean sigma = 11.023
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mean sigma = 10.445
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mean sigma = 9.785
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mean sigma = 8.972
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mean sigma = 9.143
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East

mean sigma = 12.394

a o
o O

&
S o

mean sigma = 11.086

20

o

100
50

-50

© rrrrr

mean sigma = 10.751
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mean sigma = 9.714
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mean sigma = 8.813
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mean sigma = 7.586
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mean sigma = 7.243
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